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ANS L= ZEYo -
. ~N N
Q- How many node  ove there Hrom 1 to gt wbhich are

eKClC_'Hlj diviaible by ‘3' not by 9
[ Ansi- 3 ¢ @ F 4 Ty g1 ay @ e 33./ 39 4z @
] 4a S S7 60 et &9 @ A

Total 18 No's

shortoudt s - \ -
Rl b = Bt =2
| o B8 Y 3 B
I to 81 by 9 = & =19 >
Q A y i
18
Note L~

Like In above -type of problems W anyone IS square
Of anocther, -firet divisible  With lo(\(a no. -then not divistble wifl
Smoall NO - Posstbx‘n‘hj IS not present.- First d;\{«“s.‘ble with sSMmod—-
no. then not divisible  with biq neo's Fosséb\‘h‘ﬂj present - VAN

such _»chs(b(‘h‘h‘es as fotlowss -

10+ How mMany npo's are ther fom | to dooo O which are
divisible by #  but MOb by 2 () which daisiele By 2 bul
not by & - ‘
A7) zero /

) Yyooo = 600
o

Y00 = 1000 (.
&_{

s D) A tann amalc .



1i. The nAumbers fom ( o 85 by which Are exqcmj ACUISIB\E 5.7
by & are O‘Wcmf]ed from OSCQf\'d!an order fom top- hen LD

which ng- witt be u™ positon fom -top-
A- 5 IO 15 20 as 30 35 4O 45 SO € 60 &5 10 75 80 g5

Shovteuty -~
P

For oscendt\nc:’ ofder from ~top O txs =SS

12+ TN Qbovp piobiems which fe. wil be s in 1L posTUon from

kotto m.
A 8BS oqq, (V1-1) = &+ = 7RSS =35
s ~ N
Note -
™ s-tcu*is from Smaul no- -then 'req/uw@d no- Is 8’? caHal o

[
le\)eﬂ ﬂu}Y\bef of Posrtnon P DIU\S(b((? nuMmbev-

2- T starts fom bha numbey  -Hhenh 'mq/u:red numbey 1S @CI}*Q‘

to (Total - Given position) # Divisible NuMbeY.

13- TN abow P*rob‘\cm gobich — numbeY witl be s 0 35"*” P@Sﬁaﬂ

oM  bottom .
/

A ?,? =17 2 (11-is) = (&t xS = IS

4. Mithun  wos counting  down  fom  3a- cumit was countng
Qpwards  the number  starting fom | ond he was cal'ng oud

_onhj the odd no- and what common pumbeyY witt be o_-ouuéncj
‘out ot same -Hme and some  speed -

: /
) 19 b) &l o) 22 d) they wiu not cau out fhe sme no-

A) Mithun 32, 31, 30, 29, _2,&, 27, 26, S, 24, a3, 22, 2, 20, %

SLumit 3 |/ 5[ S—__, 7, i, ]-‘3‘; &, ]-7/ QO;/ «li/ 2.3 -
tse I-F ist cmd ond dg?ts in the Se_q/uehcﬁ SqQ8 ([ 327 438 aw
/
interchanged  ond Ao 3™ and K™ digis, s g 6™ digits and

So on, which digit wll be 77 counting to your lefe:



¢ A) shortcut:- | .

s 7 fom right
& For odd no- add i
' . /
71 =8 fom right
RS @ b3 2 7T 4 32
= &

6. F -the position of the 7 and €™ digits of Sequence
/ .
Oof 8903214875 ave J‘foETChoJ)aCd 2 and 7 and so on Wwhid

no - 'UJoulld be ™ Ko w‘ah-f— end.

N
Q) a b) & a7 48 -
R =7
A) 8 9 0 3 21 4Y& 71§ 3-g
I 2 3 4 6 7 89 15 4 -9
N fe]
7 om Ti‘ﬂhﬂb end = 3 i+ imerchanges /

Fom 4 1o 9 fhen AN jetter = 7

A b<tut

V7. The le#Hers 1, M,N, 0, P, @, R, S, T i their Order Que Substrid
By 1 integers 1 to 9 but aot in that order- k is ascend t

P- The difference bjw e ¢ T is 's" The di“«(ff\eire)nce bfw N T

1S 3 what s mt—egev ascend 4o -

)k b) § &6 ) 7
A Lt T = (0 9 (not in +that ordev)
Gy P=uw; (P~T) =5 be,,  P-T }:5
(:f) N =T f -3 ,
T-N
@) P-T =5 2D Kh-T =S = T = - (Tt s not i 1 to9)

b) T—P=5 = T-4 =5 = € =9 (OK)
©) N-9=3 2 N =23+9 =12 (x)

d) T-N=3 =5 q_pn=3 = N=g (ok)



[« 3

19 -

36

YO -
+there oare 2 scootevs ¢

work out the how many Scooters  ip  Hhe 20¢ hak of the row. -

-.\;&.’P {eles

After “Arst

4 2 3

C, s c,

' 16 (]

IS ,

Cs' =S s

o 8 2a 30

<y s s
Shbvfc_d‘l.‘ :/-—

the -folowing sequence of instructions
Q gbcmdé ~for stop and 3 stands for Go,

5 atands for walt the se-c?/uence

c, 1 Cyp 2

Ay

S
S s
18 ]
s S
31 32

s

are parked (na parking ﬁ@*@w}d in a single
§ 7 J o .

thare 1 | Scogiey, oftey Second Y

Aftey 3 cars, 3 scooters Ad s6 On

& 1 Q] q |O u p2 13 1Y

Q0 o N | QAL 23 24 Qs 26 L7

s &g s S S 3 s S
33 34y 35 36
~ N

(ig=3) =iy nNa's

/—‘——’"‘4"?\

CyS‘CGGC,, g

+i 4 2 £34) FUFIF+STHIEE TITIE = 36

(18 -3) = s No's sooters -

N

3 co¥s

¢

Séctpteﬂoe; s next -

Lt

B s oy 5 3 R

&) wait 7 b) sit

c) o

5

in sccond  half

y stands Tfor St

g continued, theh which

31%53\2—%5%

d) Run

= "f:df)

i Stonds for Yuh o



RANKING TEST  (1-2M) @

B I e

re N QA YOow  your Posf*h‘on is s Fam either ends theh how

many - Mmembers in  the yow? Py

f\)tQSH{S’ ' ' , | ;
s 3 =1 . .

O —1 =q
A o
Only one person S c_ounh‘ncj e so subtract A

S
2- RamaraN i et fHom ~to{> and yah fom bottom O a.

clgss - How many members  are there 0 -’(‘h@./cto;55~
A - re

Ya
65 —t = &Y

3. Monisha. vanked 16™  fom {OP and aqth  bottom among
those who passedt  an  examinabion g boys odd not Pmr«h‘c(‘t;odt -
in sthe comlaeh‘ﬁon ANd 5 fajlures O Ahis - then how many

members are . in the class.

A 16 ’ . :
29 _
4y -1 = Uy - passed ' |
o 6 — Abstanhes

S = ails /
B

e TN a Yo of 12 boys vamu who s SN from  leftend -
then what s his Posiﬁ"@ n  Fom -.ﬁa hi .
A. 1 2 3 4 s 6 1 & 9 o W 12y,

IR -5 = 741 = gth from “‘”‘8"‘*

6+ Manoj ond sachin ar  vanlked T qpg (it ﬁ’QQPGCHUélﬁ from
‘t‘oP in o class of 21 students . phat witl be 4he regpecfive
Yanks &om baotom -
Ae M= 7 2 Moy = Mo
S~ 1 |

= P Saioper TSy,



A)

.In Qo wréuo of- g‘wls

from ﬂ‘aht and

ro beﬂs ~when vohit was gh&(ﬁfed Ve

- i X . 'fT\ &
reetn. and Mouniko. o uples 9 plac

bt ond Tespectively * B T

| 16t Piac:e fom
.

veeto. and mounika occuples |

irr're‘(‘chonﬂe Aheit places
n the YOW -

gt 15t fom  left - How Many qirls  ave thelir

o) a5~ b) 26 927 a) mone of these.

Riq Mig
D7 -~ =26 M- =26

mn a gue of  chiwdven kilas s S;‘rh Fom et and moha 1

&th  from /w‘igh{-- W hen | *HW&J i‘n'fajfdﬁcﬁge their P(CLC(*ZS among Fhem

Kilas become 1M Fom left then what wit be  mMmonak Posi“‘ﬁ“o'ﬂ

\ jfrom Y‘\"th .

A -

Q) it p) 8 o) 4 o) IS

t&qu567sqcou 3

4 4{ [ ——

%
Mtt{ 1312 41 10 4 8 1 le

7

n a row ©f
/ +h y 4 £
ploces towards  left, he become 7 Frem et end  whal- wadts
hie positon earlier om vight end - -
P d +— left
, 2 3 4 s 6 @G & a 0
ond F(i‘pm *r?%h{— |
' \ oth and Teeha (S
TTn a  vyow of atﬂs smF& e g from jeft )
4 [y . . N N Ay LN S- N
t1th  from  Yight: T they interchange their Posrhoh, hitpa.
becomes i drom  lefte thow many givis in the Yow: Y
a) as N b 27 c) 29 d) Nohe - N
S 13
t 2 3 4y s & 1 8 9 e} U [
gy 32t
Riq 6 te 1y (3 12 1o oA g7 6543
Sy
31 —1 =30
N t AN i
one P‘\ace s counb nq 4woe Hmes so Ve



; ™~ KIS
€
—> G +8 =ty

Ans - 1y -

jo- o0 o vow CGF boys kapit i< e from “ﬁ\gh@ Nikand 1S
iRt frem  lett - When K&F'i( and  Nikans  inte TCP*;(JJ‘»E) e thely
position - Nikun)  becomes ot fom et Which Q«F—'%ci Kapll —
position  fom  Tight i

a) & b) 17 a) QU d) cannot: VRN

N!D__ q Kg k
Ky >< Ny, -
L1+ Tn a cube Amvatha is  (ofd fom front while Hukdl is
as™ Gom bebind and  Mamato. s Just in middie of “wo- _ 7
There wWill be sq persons in cube - What Pcsi}fon mqmcﬁﬁk-
@CC\—‘F{ES fom  font -

A 20 b) 9 c) & ci) (7

A) Total = so

AIO — ¢ H%LS‘
/
SO - ('10+as) = SO -35 = 1S =15 = 8 {om left and
2.

IO+8 = 1% .

2. 0 @ cube viday s 1w fGom  frent ond  Jack  is 177 fom
end Whlile movry s in  blw V;J'a,j and  Jack - T ufjmj be
chead  of Jack and there will be ys petsons in gque- Houw

Many persons in  bfw mary and  Vijay - 4

&) R ) 7 SIS ) S

A) Total = yg Viq M Ty
Ug ~(v+17)
2 ys-31 = 11 = g.s = o pevson s mary s
2.

T™h  kb/w UUC‘»‘j anal HG"\J = 8 Nao's,



13- Three persens A, B, C ave S‘l‘cu»dm? in 0 Q- Ther aore 5 6

persons blw A & 8- & peveons bjw 8% C - e ther be 3 O
pe‘fsons abead of ¢ and al persons behind A- What coud
be +the minp no- of persons in  the que .
) led p) o ) 28 o) a7 ~
o
A <zu/,,_\ S g -8 ¢ 3
QI+ i+ s +ltgtl+3 = YO
Wy 2o E—e s aheod [ behind
A —2b ' Abhecad
-6 . N
/ T & 3y
31+ 84145 = 28" - «— & O
Behind | i -
e I ff\)
Ay 2 ‘
o~ ' . £
& TIME SEQUENCE
,.\Mw—/w-
/ A

Go sec — | Mip —> 6o min —> I hv 5 24 hv —> 1 day

I dox_js — | week —F h weeks —s3 | maonth:

1e Kilas #&members Hhat his  byothey dé&.PCLK‘ biﬂﬁdcuj aftey

26t mmj/ hut befonre. 28 Moy whtle Cje@:ﬁn ye members —thod

befm& st May but 1t May - on whqct' date dec‘:&ks birth
doij “falls - ‘

&) 2t May  b) 1% Mey 2™ Moy &) cannot

Kilas > aoth may < 2ath  may @ 23, 23
May 13,14, is, 1§, 17, 18@

Qeetha > 1P Moy < 22
/ .

= 2 Moy



Faae®

A)

e,

I-f"

A

4

NN 1 A LY YTy A A& YAn ~Y NnAanas

Songect‘a remembers  that hef ﬁﬂﬁ@rg pth dc/nj was ogfvf-gr
& but before 13" of pec. Her siskey Natasa yemembers |
that her fathers Was d&ﬁnq’r&lnj after qfh but before  ob
which date of Dec was there -fethers b'dcuj-

sm,ca&eto. > gth o 3™ pec

Nataso. > o < ™ pec

= cannest be determined - B

Vorma leaves his house ihao min t© v°clock ©n mo-vm"ng
Yeaches vimala house 0 3 min, -they finrshed break fasts
?'r» ancther I min ond leave ~foy —hely ofvﬁ‘ge + +akes
anothey 35 min ot What o thelr leQué, vrmilas house to
Teach their office-

o) WY Mgl |
25 mvn W

7-00 7065 4

020 OtS

6 140 i3

7:20 AM  While !equina Urmilas bhouse . —

Aio\j lett- home —fov bussto,) Ilss min earliey “than usaal.

Tk tokes jomin o veach busstop- He veached the Stop

ot 8:40 Am. What tme does he usualy  leaue for  busstop-

Q) &:30 b) &:uS Q) &:yv¢ o) None .
[ P‘l UELLS s-lcP
: L——fiomin —> T 8140 Am
T‘odcud L RL3O | /
+
E arlier

S OIS D &INS AM

+ The ain ~for  Jucknow leauves euevy 2'Ys hrs from New Dl
Railwoy statian: An announcement Wwos made the train ~or

lucknow had jeft 2OoMin ogo - The +tain will leove at (& hys
At what+ tHme wwas annocuncement-  made .



A)

o
O O o, O
o2 2o / 2o -
}é———-—————«—«—el( >
_"{ Ha !&s : s%)“)l
/ 18200
e
16« to hrs

The monaca(‘ng Aivector

ofteved 4he confernce  yoom 20 miy

before Chairman who was 30

before \Q hys he came O min
™min late- At Hme the interviews weve Schedaled
~ N

— 1200 — 20 M =) (1140

Manoxy'r)cj Director
c-harman

scheduled Time

AN O-PPRco:ﬁon

of o wéekdoy- Next day
who wvxos

senlor clerk -

next da*:] ’co,uen?ng Fuﬂ* up tHhe oﬂal
studied

e desk officer

-

- pias  Yecewed

tr 2 So AM C(i:qo-&—comc“n)
it 2o AMG

aftetncon

It £Sa - 30 mih =)

bxj ) Qéoxd clevi
“fovm wavrded = to the “+able of
leave that dcuj? The sent

ccatton do  he desk officey

on or clerk

+  and dl‘Sposed of- Mmalter an

same dOJj“t\—e~; ‘-Qfdaﬁj wihtich daLj UIAS QPP(FC@‘GD Yecetved

by the
a) Mon s b) Tue
&=

wed Fri
Tha

A)

g. There @re 20 F&OPI&
a@am and 2. PM the

5 Persons
blw fo AM ond

ix Noon aoand 6 P-M-

)

b P M

inward  clerk -

Wed

D0 !
E

d) None .

in an office . The group of
nd group ©F 10 Fersons

Fersons bjw

UJO'(kl\ﬁg
the 3¢ group of 5

There are 3 computers in offce ewhich

adt emP(oHes *(:req/qenﬁkj used-'Duang ushtch ofF tHhe ?Fouow(t/\a

hours” +he compurers  ave used —+to likely mest

a) 16 to 12
/

b) I> to 2 PM

o) 2 M To Lk P

<)y t PM +to 3 P M



gio0 AM & Q2 P — & 9

10 AM ‘é L PM —

®
13 Noen ¢ & pPH —>
/ :

- A mMonkey climbs 30 feet ot the becatm‘nﬂ of eqch houv
vests Hor o while when he Sips back qo feet before he
in Ahe begining of \next hour- T -

agaln  storts ch‘mb:‘nﬁ
g A'M at what +tme ‘wpl he frst--foud

bec\}tm‘ng oscends ot
o flog @ oo ~feet from ground -

Q) k pd b)) SPM 9 6 pPM d) None .

Ans: -~ |
I hy = 30 fcet | + 20t J

= 10 fect
For ‘last 30t it takes 1 hy tme
Total = Ahvys + | hy = lo hours

8:00
(Yo W eYa!

{8 100

(2 100
TG00 P
(O« Mohini  went o movie 9 days ago - She 9’0@_8' o mouie
Omtj on -ﬁ‘c‘douj - What do,lj of week ‘t’t)dcuﬁ
o) Thursday b)) Saturday <) Sunday o) Tuesday
A) [ 2 3 v s & 1 8 9 [to ] 7/

= Sat  sun Mon Tue iwed Thu Fr  Sat Sw‘)}

r

= 9 d asmpleted )
OJdS P A (2 = Sund.a,.j
=



1 Ch-?vu went 1o achoet 366 dauj;g ago - He goes 4o the
school only ©n  sunday: Then  what the day on 2days

before of -tomorrows ﬂesvt’ufdmﬂ'

A) — 2/ pefore 366 -2 = 364 (52t9) Same Cay
41 Tomorrow =Sunday
-1 Yesturday
-2

—_—

/\ 1]
. s o many  Ssandays in
19. Second dec was sunday hen  how y S 4

R -s
A I 7
Q -5 :
-
- 5 sundayg
16 —S Cuj
7
— s
Y 23
.
30 —S
Shortcuti-
W

Total do.:js A 2 |
L ] — 5 sundays
/ P15
7
. . N [H}
13- 1IN 33 yan  uwos Hcmdcuj» on ouhodf dode of -the man

sth Monday ~fadls -

Shortadti—
A) 3 ‘ >
—_— K Mondays = qx1 ;_D_i
o T 3l — Ms
/7
f7 - M3
7
39— M
-



Ditevence  between

re

)

Q-

3

S -

™ s not divisible ng

g

Ovd inani Jear

Feb =28 dcujs

©

L—EG-P \Ua@_cu* and Ch“di‘ncxmj <j<£c.u“‘-

/
LQO‘P L} &EQyX

I« 24 1S diuisible by Sy Qxce(ﬁi‘

oy certuries - For cefmturies

would be diuvisible by Hoo
/

2 Eebh = 29 O_lcujs

No: of dcujs = 365 3. No. of dcujs = 366
Y. No: of odd days = 36 5 Y- No- of odd dO{jS = 364
. 7 7
= sat1 (one) = sa 2 (Two)
First daf) of year and oF U‘o.n—ls* = Dy,

ny

A

s

A-

16

A, .

lost doud of year 1S Same

3" dec, 90 s sunday

Dec - 3!5&_ = N dayj

What day s 379 Jan — Q-

vpto 37d Jonuary 1990 p
Y pec: 1996 — sun —> N
} ’ 3! = 3 odddays
3 Jan o — 9 — 3 K
S
sunday + 3 = wednesdoy -
xn 8™ Fep iaqr s Tucsday (et eeb Jaqa ?
(& Feb (971 - ‘(‘u@sdmj (a9 j*'
+ (A9 g = 2 days add
18 eb (9 — Thursd
- (999 Oij (999 + |

Tn gt TJan acor -is sunday, 14yt Jan 16027?

h Tan 2001 — Suhdouj

= _lt o
] -t '.7—~‘(Oddda<jg,



{77 RS 8"?‘ Join ; SO0 was . Mend(ltj ; o 2~&T’?’3 i‘”’iC‘i‘(\”\.}’) 2009 )

A-  ah Jon 2008 — Mo‘ndou:j
/
g™ Jan 2009 — (ttadays))
N Tan — Q¥ day 1] = 8L -
a | ] = Y oQd C:k“({S \
Febh — 28
Mar — Q8 J

Monday +4 doys = Fridoy -
/ .
18. How much Wil be -therew —rom 26™ Jan 19a6 o (5 Mo/ /TR

(Both days Included) -

o

Feb v 24

X

A- 26 Top 1996

=) t dOJjS

Mary Y 31
AFﬁl + 20

Hmj:ts




5% a- Y ' 7 - N QQ e

oy

/
small - Tau
less 8?3 ﬂ
Jounger eldey -

Richey —

t+ A IS talter thon 8, who Is shovker -t}nn C - :

m>0

2- sachin IS taller  than kopil but Shortev than phoni. yuvras

W is taler  than pathan  but shorter than kapil:

A- Dhoni \

Sachid \U/ Po:thcm s shorker .
kQPFl

Yuuval

Pdthai')

z. Rohul is +altey  than Ronian  but shorter than Gunsan -
\h‘)ouj and shavot ore Shovier than Gunan - Vi J‘osj e shorter
, -than ROJ\‘!QD but “4atler  than the one who =3 < hortest

amoung them . NFth decemding  order of the  Yights who s
in o yh loosfﬁon-

A) Cﬁurﬂuﬂ
Rahul
Ranian
viiay — w™ person.

asharot

H- lalu 8 w@Mer thanr Ralu  but shortey than  kalu - Malw
s —taltey —4han valu but shovtey +han Ralu- twho (s Shovtes
QMOUI')Q ‘them

A Kadu /

st te
bl enr Ladd

) 2ol

v ———

Radu
Madw

‘U/ cannot  be  dedermined

nd ,
2 eSS x



{-

<

00

5 ®

[

5. For so!utmj above question which cue dhe ~following

ctatements ore Ttrue s

A) Haluy e taler thon Ladd
g) Ralu ‘e talley -than kalu
&) Malu ts tadler -than k alu
g) vald 18 tadler  than  lalu

ﬁ@f_ﬁ' (d)/
cannot be cetormined

N BLOOD RELATIONS

P

3

uncle (Hfather) |
‘ brotha .

~~ Moternal yncle me’"

T i pecternal
Fathey  (OY) Mothi‘b:iync\c .

/
Fathey (OY) wothey Sistey —> Aunt

WHe's  (ov) Hus bande father —3 Father- in— lows
WwHes  ov) Hucbandd mothey —> Mother - in —laww
wife's (0Y) Hushande BYother — Brother- in —{cwo
wifee oY)  Hus bands Sister — sister ~ in- PR
Uncle’s (o) Aunts éon (ot) Do_uahter —5 COusin
gYother's (oY) Sistev's  Son - Nephew

grvothers (ot) Sisters  dowghter — Niece

Blood velatons are -three Tjpe:-

S?n(ale pe‘fsoh bloond yelahons

oot

2. Mixed glo0d velarh oNns
3. coded Bl00d velations
Single  person blood  relations~” - HOHALY

/ \gtﬁ’f - "/ﬁ-\"b"’cg\ﬁ i o dw\} "“‘“\\/‘\ - -
ot o the Gon) o my( ke 4
Man 0 women /is \the of the @/r ’ wife
] was :

| as

L—="2__y pirect bloed velohons

Ansi~ Sigter



i *\/;\“*‘*‘“\ / 7

2 Man —s @?né vo*f‘he’f‘ SG@M@C s _the wm’: +the
b3
@@@?/

== T o
of %Q%‘Lﬁﬂ@& ft-he gon ot mY

@ers U:).r(:e_) N @

Ansi—-  Focthey

(y(‘,\.\); D

3- ANl itroduces Rohit as  -the (\@ of ~the onty ! rort
.—.._A 5&\ et e s
.~ of his @a’thers wife)  How IS Robit velded +o  Anll.

/ —

ANs ‘..'* COUS\iﬂ .

Y- pom-ﬁnq ‘owards o person in o Phdo‘ﬂhe.’ ﬁ%@
kwowef /”"‘ Tathe®> p
Saild he is the only (&on ‘i‘hev“ of MLd gfevs bTUH'\

How 1S +Hhat Fewrson Yyelated 1o Argalt.

Ans: - Ryother .
/
5. PO"‘J“”?] out al Pho-tocar a man  tels hls Gree_nd

______ % N “Lhmﬁf_-\%_\_‘
she s the w of the w o mf} @—fhe‘rs wrf
How l'S' the c&wl N tHhe Phoﬂ*ocarth yelated -to MAN «

_Ans - Dcu,\%h‘har ) /

A

| Ny N Ky
G- POMJC‘”‘fj ‘o a man on the stge , th& said he U

) — A X . _— baney
_sen N
“the @@—D SF the @%}/O@ the \_/BF“ 7\:51‘30’

How & the man on the Sb%Q veladed to  vito-

Ansi-  5on

/
- pomh‘ng ‘o a mon In o Pho-to%ycmgb AL women sald s

e L2

L

—+cd‘* K
@ﬁéﬁé‘@ ‘the only Son' &%’igmdﬁﬁ@}

Houw 1§ the uwsoman , yelated 4o map In the P hm9m‘l’h‘

Ans i~ sister | /

NOte:~ Like in above +ype of problems e Gom ctther ends
( Father = Rather) oY (Mother = mMother) ©f (oncle = uncle) ov

CAUNt = Aunt) ¢ & both are males ~theiy brather yelat'ons



betuseen themM: Tt
/

between —them o f ON& 'S

brother ¢ aieter (or) sister and  brother

+hem -

- jl""QW mother - cietey .

< — T—gicte”
8 w6 (anald)_soy Gowd @b @ the oy Gk

Of m\j/MO-thev, How s  kamal ’retoﬁzd ch Rowi +

Ans.~ Brothey

Noter- Like  in aboue  ype of  problems convert e
~N

yelation N tevmsv of asked Pe_vson ~form  Tthen apply

from opposite:

et
velated —o  -that  maw

Amni- Niece

/ 3
Mixed Blood velations -
et » /\/\—/’\/
Mate :\—f-'

female = =’
&) COuP(g
_ -5 (Brother +o gyother) ©F

(s¥) ( sister O grothet) oY

/ \\

information  carefully  and answer the

g Read the following
Al 8, S P,

%egﬁons/ below giueﬂ
i the sgister of F, & s the bvother of hfs

it - There avwe ¢ pevsoos

Ef P‘ ‘ C
huskand , D 1 -the —father o & and  gran father OF B-F.

male and other & female thefr

relahion betwesn 1

(Bvother o sister) OY (sister to slster)

(father ov mother) or (Son oY daughter)
/‘



There are -two -fthers, -three prothers and mother in oL

o
- who Is +the mother? (d )
a) A BB c) C d) @ E
2. Who Is hic bhusband 72 (c )
g bc DA DHF
3. How many Male members oaxe e N +he group) (d )
o VIR by 22 ) 3 A) L |
4 How 18 F helaed 4o € - (c) A
o) uncle  b) Husband  SJson o) Paughkey

5. which of -the -fowowling s a group of brother) (A)

a) ABF b) ABD o) BFc d) BDF
/
Dc¢t) 8 —-— - Cz)@ E
, ) Gy s
B-—--=—A &= (E)
c+) ¢ A
A — 2P E (Y
+) y

Q- Pmsharﬁ: Arora.  has  -three children Sanaee_‘tq, vimad, Asish,

Asish marricd mounica. s the cldest dmigh'bv of Mr- &
MYs - ROy The Roys married thely  youngest daughter =-l—o~hh§
cldest SON OF  MY- § Mrs:. Shaymasy who hod -—h/,oo <cons Amith
and <ashi- The Roys have two Mmore chitdren that s
voshon and vandono. both ore  clder 4o veenas Sameey
and Ajon are sons OF  Asish ond  Mounika Qoshm;’ is the

coughter  of  Amith-



I What js  the Ssurname of sameey? (b )

o) Rij b) Avora. <) Shoarma d) con't be

2 How s Auoy velated o Reshan 2 ( b )
o) son  b) Nephew c) Nelce d) Son- In =lauwd
3 uohod-/?'s +he sur Name. of- Rashmt 2 (<& )

a)Arova.  b)Roy ) Sharma o) Nohe.

Q- How rmany chitdren does  koy hove?) (< )

N Q) 2 b) 3 c) H d) more than it

6. How is veehd Yelated O sashi? (< )

o) wifé  b) Sister  c) slester—in ~law ) cousin
My § My ROY MY & MYS - Sharmo

Avora. \ |
AN S - X2 VA

—~ <haahi

Soncaceth u?mq{ As‘nsh Z—=> Mouhica (vcena)t———:) Cﬂmq‘{-) - — |
) \ ¢-) ) ) +)
cameer Aoy Rashmi
+) (%) )

Coded Blood velathong:i-
S

p Q- Read the %uom?ng ' rformarton Co.ve-(‘uu.j and answer

-+the %uesﬁon_ +Hhat ~foltlows -

]

A+R MEeans “A & the <on of 8'

a/-p  means “A Is the wte of ‘8"

v \ . !
Ax g means \A e the brother ot 8

“pwoeo ls o Hhe mother of 8’

}
A L8 mMmeans
/

(RN I8
A =06 mMmeons A IS the Qistey oF g



1) What does pxR =& Mmeans 2 (c)

b a) P s brother of &

e \ P = = ~- R
b) p s ~father of Q@ )

£
c) P s unce of & l

A
d) £ Is B nephews of Q.- (‘+ or =1
2. hat does  p=pR +8 meem-&:;

- & Reod the *Fouovﬁma ‘rfov mation Acox&ﬂm% and answer the
(j'."f: queston  -thed— ollows - AN
A+B means YA s He dwgmc; ot 8"
AXB mMmeans “A s the son of /Y

A—B  Means “A S the wie ot &'

fe ™ PXQ~8 — True 97 (b)

a) s is wre of @ P ; Q
b) Rsis fuather of p | - A
) P 1§ daughter of Q ©
d) @ is fodhey of p

Q- DM P-sx 8 -M, — False ° (d) ,
Q) B is mother of <
b) M 1S husbad of B
d T is wte of s
d s is dmLah*(—ev of 8

eF /

P+ Q& means “p is the prother of @
P-Q Mmeans “P s the mother o'’

Q

PY A ™Means P s the alster of a’
I+ Which of +the -fottowtnqg means U ke the metermnate Uncle
rY. L)




R

Model — T 1~

A \’F_
I I coch of the —followsing question  One Agure IS qluen, ! |
. b ~fovmad -
7 that -ﬁ‘gube e ~lded -the %llousmg —/ﬁ:. cubes ar
(o L3 (b)
’ E,,_] Ansi- ()
L—L‘L—E"’i’ no—g s ZED (d)?ﬁ<3~ IS oppos?fe to 5
! > s IDC T pet 3 o 6, Q_—’)k(.
LE/—J == mn Oﬂ’mcq)'ﬁa i ie QdJQCG_Hi- {05 not

I} I = s

2= Y

32

e

2 t
\
| . S 3
l 2 3]
~3 4 U
‘ ¢ | | “ 3
> L— 1=y ‘
6/ =5 ’ Ay 2 =g { c s N DY
g 2= M 3= » 3 ¢
2 topplsite faces)
N

covrect « (h) a2 i odiacent 4o 4 neck

corvect . (€) 3 g odiacent to 6 Aot

covyrect -




a) (A) § (B) Only %

A
| B (R) § (o) only ~
8
I asHe <) ¢D) on
{ i A D N}
F | B =g ' d) At the oboue R
| S ~N
-/
3) l _
D
(D)

/ .[CJ_

[_/‘t\l' X (A) ¢ (8) only
A B) (A)€ (o) only
@ ¢ ;———D ) &% (D) only

o v, ..
E A U, E ad) All the abow
’ B = D :

" , D
*) (3)\ © \ ” is, oppost
From above  —fuy FOSC"h‘oﬂs of c<ube  which bcijmw. _
1 ~face <. [ D J cay — oA E
D@cﬁfﬁwﬂ,e,ﬁe 8 > <= A F

(O 2 3D E B

| f°3 “? C is pot a'w




e

— X y et ' - . N ) . . f(\l
ahn QbOU(E —fouy ’p(jsmof)s ot cube e foce 2 S top ana

which -face is  botom: . [ D ]

OF?
S@Q 'ﬁ ’, 3,«"‘{;6

Dot -

~ . N .
colors ey, ved, blue, green: Red  painted of top ond bottom -

and rerﬂcn‘r(ina faces ond ~that oppose = are ngn»e@d Lot
remaining colers  anal cut into o cubleal blocks of coch ~face
acm and anrswer -the »-Fc;(lomi‘fg q,ue.sﬁons—
L. Hous Many Cubes ave  there  which aw énfg one face
szmzd Zotth Qny coler and ff‘@mqin‘mﬁ faces ave N Fm’ﬁed
A) 4 8) 8 ) 12 p)ay Lo
R+ HOW mMany  cubes are -there ushich are only +4uwo Haces
painted  woMh in any cotox  and  remalning —faces ae [ C ]
uﬂPOJﬂ{‘ed~
ANs B 9 Wn

/

3. How many cubes '_qre there  which ar only ~tovee  faces

Poih%ec\ weith L an in any coter and -*ren')cu"m‘ng faces are (B Ty

unqun‘l'e.d-

AY  , Dbe c) 10 d) ix

Y- How many cubes are dhee  which oaw  thvee Afaces '}Dcu‘/ﬁed

WHA  three  different colots  and mn'\oin?fg faces ae  dpainted:
P\) 8 7 b)io c) 1 d) g, [Aj

S- How mMmany cubes are v wh?c%. ar one face Podﬂ’red‘ With
yed colov ond mmofn?nc;, faces are unﬁm?m‘ed1 (8]

]

A wooden cube of gom IS paivted  with Three clitferent-



=

HQLQ many -Riaces awm —here Huwe —Rces ,acxi‘rrfcd with red
and blue and rerOcdn?nc\)g—-fhceg are  uApainted - CBJ

A) H b & Q) 1o ) 16

B

7. How Mmany  cubes ar ~here  Which ar -tuwo faws pqirﬁe
wih  ved or blue- the vemar‘hioa ~aces e Pcﬁtﬂad @)
. /
Moy not be }quﬁgd, e J

A 8 B) i c) Ie D) 20

8- How many  cubes are e which are Hwo ~faces [OF
paited  (with green  color and remcu‘nmca }(&ces are uDPO..W

A) i S 9 1o ) None
9 How Moany cubes are ~formed  in Qi - <] n3
. - ___8__:‘1
A ay &) 32 S 48 C) 61 T
_ _ D (=6

fo- How mww\j Cubes are there which are O —face PC‘:"Tfe

WHh any color [ 8 ] (n-2)3
_ / = (u~23
A 4 b) & c) 1A d) Aone I

- How Many cubes amw  tHheve which  ocre ateast one fac

"N’Po?r)Jred S8 gy )) any color -  d J A3 - (n-2)3

=y q3._ a3

A) Qi 8) 3a c) 48 d) s6. / —;q;a
= &

Q- How many  cubes are  —there which ow atfleast +two
—faces Pat'n‘ted wtth any color - (e 7] |
A (R b) a4 ) 3o d) L,

I3 How many cubes o ther  which ar afleast three
~faces PCU‘P'H'Qd U:)f}ﬂ') O)‘\(j alor . C 8 j / ’

A) h b 8 <) 1a d) None




Ansuers -

je L X 6 (faces) = 2y

2 2 X 12 fedges) = 2Y

3- I X8 "-(/Qornefsj =
Y- R = &
SK- '+t = 8 1.
fr Red- ,_ N S , “Green
6 - ped § Blue = uU+d =8 - e L
glue y -
18- Red & blue = 28 g = '6 blue
/ T
R - ) N . . ' : o,
g N one N OP& of ?]an s %men
- W3 o S o
Q. n~3 = (#)”™ = 64 - opp- of ped also Red
n= 8™ =y Pcw!é opp+ of blue aiso blue
scem :
& Cube  Analysisi~
o ¢n 203 = (u-»
1o NO« of ~fsces =6
= 8 Vv".j' .
. / | , , a. No» of cdges =ix
No-faces = & = <€
56 :
1a- - Atteasty one = S6 . @+ Qs
. or) R
only one = 3 ) | Q4 + & = 3>
32
[ IR = 8

A&+ A wooden cube of B Paisﬁ@d with three differnt

colors  ipu wd, bDluae and yreen- Red 'Poinfho_d on <fop and
bottom and  vemalning  —bees  od thatt opposite are  painted
Lth vematmrq colors ond cut- info A cubicle blecks of cadh

%f& acm  and ClﬂQUJ@r —Hhe QJDOQQ Prob{em %\t@shbns.




@ % Analytical

‘ Right s
- R angle _

Tﬁqﬂglé =~ 3 Sides + 3 angles  —— Equiladert Hiangle

\ T i .
\-——SOSCGJQS trange

SMEN fr5hanoie -

AN
[ ]+ <N /
S-tyq;gn-b Iine s ~ |
N b
A_, Hortzontal st (ine =
: vertcie st line = 1
Inciined gy, line =
AN /£

- How any Sb”dlgh't— lines and how many tfiqng\és Qv
tere 0 the %uowkna -—ﬁaw@ --
A« 16 'tf(\Oﬂfa(Qg ’ 6 st-lines

I Fn‘ca- 'triangle = 3Xx2 =8

o l:i‘g. ~b~!‘ang_lc: IX2 =2+t ¢, =3 \

3

A \ T~ | 77—
3 FRige triangle = hL.L::L—\-CH =g 4 fmf' £~ post

& Fig. -ﬁf?angle = J ‘ C — combined
6 hole PC“*' fom T -jak

ond Yemcdnfng l-)oufi' fFom

ﬂ—/Par't .

A How Many  Staight  (ihes  and how  many  Hangles A

there ™ Ahe «-—Fououﬂng ~§9um=

A~ T Stralght ines, 3 -'trfcmg(es

1 F- —triang(e = ux 2_':-.: o4

RE- —-b*ucmgie - Qxl:q+c, =S

3F- “bf?anale S IX2 =2+, =2

Y- ‘i\f?aa‘\\ca-}e = MR 2FC, 9

\




Cand  how mc'mj Hiangles  awe dhere
in -the —foltowing -figwe. [ J c
/ .

A) 5o B)st <) s DJ)s3 -~
A- No- of Staight lines = I :
Nga: ofF Hionaies = P
== —tricm%[e = I : = 12 §
4#BF triangles = 3+t = 9 _

2E biangles = gay+n 42 = g2 34 1

T~ T - Py :

6F Wangles = T4+ = Y part p Fm{— O

8 F Aniangles =Q +1+1+i+22 7 N =

e £ tian gi = . .
h - How mafwf st lines and  how many  Hilangles o ther 10

the —folowing ~figure - — : (OF
A.  staight ines = g
—m‘ang\es/: TS

t F -tficmcdte = hBr2=48 , '

aFr driangle = o+ Cy =1

I - part TL“~’>QV+
kF trongle =o +C, =4 ‘

16 DR

—_——

5 How mMmahy strq}cdh% tines and how rhany teiongles Are
“4here v the %ummg fRyuve .

A"i‘ : gﬁcﬁch hnes = 12

S -H:‘a{sgle = 16

QLE —tn‘cmgle = 16 - ‘
. 3~Pm+ | T~)>N+
uE Jmomﬂle = yt+y =€ |
8F —Hi‘cmﬂle = Y .
» vy




O in -the '%ttbwi‘ﬁj "ﬁgum' C

(3 Q) b)as o)ag o) 99

A~ No- of st.iines = 1Y / V \]

NO- of triangles = ~ ]
N | F/[ . \

7. How Mamj strolcah{— ihes

—there. N “+he ""Q)(IOU_N(\!)g »—ﬁ‘a

No. of St lines = &
No- of *trfal\caies = 10
AB,+ cb, +AE; +8Dy+CES

=

[ F triongle = s

o)

Ur — Modkei v~

g How many - Staight

thew

lines
Qe

5 WA

No' Of St-tlines = &

No - of triqng(es = g
/

and  how rncw; ch:xue!oqv”&m

in the -—F’o{’r@wr‘ng Ffrgare .




Now of Stalght 1hes = 7

No. of F}wa\eicafqm =18

| F paratielogam = &
QF- FQTC\(I@T%V‘CIFD = v
hF- ’Dfltatleiajmm = 2
3F. pavaliclogram = 2
pavajeloq

|

6 F- Faraliel’ogmm =

18

N

LC)Q;CGI venn diagrams -

P i
1+ Stactements o dfqarcxms <

In .

cah)en and "t{»otb—{-btlows some r‘;-ossible du‘agram -th

ernotive  woith m»gpgck 46

(b)

| /
o)

éQ‘@

(9) (h)

09 Docto{s, Loy ers and Enafneevs

C> grothers, males and fathers

k) Sclence, physies and chemisty

arh of +the —(-‘ouowina q/u-esﬁons

+he 33\,@_“ aboue -

Hhree  Hems A&

en Cchoose correct |

Mc;lei \
(c)




TIndlans -

cyricket P(‘l{f@—'g , Xerg,

..p) Carvots, \Vegetables and ff?)od

24

0 ; b A
c) Mothers, widows and Females , (9) -—ag_ndprg{eﬁnce ( widow an

h Cricket players, -tennls —ns, Tndians
o ) Mothers, married Péop(e and  womens
d) Moales, doctors, Engineers
@,) MOthers, ~females, - Books
a) - Fathers, males and Enginecrs
i)- Brothers, pathers and cars
N :

Q- Diagram -to stotement: ~

Study  the fottowing cliagrom Carefully
queston —that ~foliows - '

5

1)1 R 4 PGOE\C‘ ’

Graduate :

1

Teach ers

and

GOVt - EmPloHe@s

/

widower b
ar soame i
goto-this of

answer 1he

1« At which of the —fbuowu‘na statements Qe definately

true -
A) AU graducdes ore urban people
B) All government Q!Y\Floyées are  urban people
©) Al urbon F&op(es are teachers

o) Al ‘tcachers are arban people .

Cd]

Q- which of the ‘-FOUOLUr‘hoJ stdements awe Aok correct (@ 7

A) Some graduates e from  wrban  vesidency

8 come qovt: employees are

net fom wrban wz‘és:‘d@ncy

c) sere.  wrban  peoples are  neither groedudttes  Nor Pt employeses

) some tachers  ove qovt- employces




[N

A) Some camduc:hes are

not ffem drban yesidency
B)'§‘®M@ qovt- employcees are frem rural vesidency
) some —teachers o ﬁmduaiﬂs and caov{—- @mp(oge@

d) sSome deachers ayxe oM  rban ves«‘dency

whidh of the —following Stxtements are not #false € 7]
/9 All 9/9\)1? QMPIOHQC‘% ave. gr&duo:fes

g Al gradusdes  are flom  yural vesidency

o sorc urban  graduates o govt: employees  and PFaqghers

d) Al the aboue™ N

8. Study -he "FOUOU&EVWQ de‘dgram CCLV&Fuluj and cnswer the

8.

qyegﬁon/ that— follows s £ %)

; . 3 UOI\‘B
Ovban ,oeopfem civil st

 cducxad
/

Uvrbon uneducated mate lout— not  cuil cervant are

mpresef‘d‘ed btf &

Urban cducaded male but- not clvil serwant ax «re?reser\«fe@- ‘_

by 1/

Ovban  uncducated male civil
but nNot ciluil  Seruont- are repregented

Servant ax ‘mpreser’ﬂ‘ed b\‘j E__

Rurad educaded male

'bk\_} =S

—

Uvban uneducated  wonmen civil servant 1S vepresented by 2
Ruyal uncducxed male civil sewant  are repyesented by 7

Uvban Yneducated women  but Not civil servant Arr Yepres-

ented by b

R-Qroj' educcrtéd womeh bub not clvil sSerwant are ,,EP@SW




J e B -3~ =

Reasonine

Arithmetical

P9 NO— IS

—

8 +3~D

\
A+ B = D+E+I0O = DB+3+ 8-3+]0 = as +o

Bz cCc+2 =Sc=8-3
AtB+c+ D+ E = 133

= QB+I0 4+ g0+ B+3 +8-3 = |53

Qe B~-3=A = 35-3 = A

D+5 =g WA

A+C~“_~3_E =) B2+ C = 2X 30 =D IC:ZS_I

B+D = Atc =) B+R2S5 =axso = 8= 35
/”7-§\
At+tB+c+D+E = SO

QE +AE+E = iSO -

SE =~ ts0

SX
N =iy
A wqmeh -é—~cy€—_x — Mo.vnedf o+(———o€x)-—> chidren
N ee——r

ﬂi”/J -“G\"DL —> Moxnedl @—{—(’\crex)-ﬁlcmdren!

=0
5ot ofx)

0{-(%— of

2 of
3

[y



and. &

X
'8 Ao = 21X
3 8 8
S
3
] > — o — )(
o le\AlL children = X —_1
i N/c;i’ howing !
_—
' *
G- DG,L\gh‘{C‘(S age = % ';jGECU‘S =) a3 3&.0.7'5
Son's age = (Xt 1) years ~
FCIW\C”S c\_%e = 33
Moth&r's oge = -9 o 3(9.3) > :)603@_03*5_
/
s= M
2
7 = IL-9
N
L =23 Jears
7+ Ravis age ‘o birth ime = O yeous
Ravis brother age = 3 yedfs
Rovis sicter age = 4ts3 =7 years
' - = 22 years
RIS fother age = g+ = 35 Jyears -3 32 Y
Ravis  mother oge = 268 years -3 = 3 years .

& Rahuls age ot birth tme = o years
/

Rahul brothers age = 6 years
Rohul -fathers age = 3246 = 28 years S
]
At -the birth tme of hs sister = as years ©
A Rahdl sister age = 10 years 5

G- 100/ — (HY0+ XS +15)

= 0.




—~

Total = SC -2t = aq

Hindli 39

]

Onlj ' Hindl = 29

onkj Engl@h: 1

+~T
12+ 8+ s+ POPE™

&0 pevsons — a7

b person —3 Q7

btd+++ = 20

Q. = Yo

4o +3a + 6 +<Ctg = ap
C+9 = gy
Planned o 90 P(‘Cn?c =

Attended o picnic

-

They sperd 96 /s on codables

Q6 _

€ = A6

W~ X

qg[1~x+q] -y
N —H)

‘PL)*’-L&X —q6 =0

WA — IR (K —12) =0




P-9 NOo\I-a5

A B
le MVST\IF‘I &> N2TUIGZ T f<_
NEMISES &> BOFNTTFT s T
/

&« NATORE
EAMINE <=

. GheNKOG
N

/

(; OCL)WSG}

(1) C+2) (1) (+2) (F)(+2)

3 COMPUTER &> EPSQUUHS

MEDICINE

=

S PETHDTAQF

K MONKEY &

TIGER =

/

T <S5
T <« H
G <> F
E <«<— 0D

/
R <« QA

—

22 ENTRY =
STEADY &

TENANT <&

N
o ) G
XDITMNL <V X
E <> D
9 F H
7 QDFHS v I
123 45

Q31 78%

?

c D

r M

g Vv

c F G
N o P &R

w X Y =z

4 I




Octa loﬂgqacae Means
the numbers

Yy x uy

&t X Yeg
Y2 4 3

{]
)

D Ligg

I'37 + Q76 =

b3 7

aye

= Yyuy

U3 s

N bjuy

= SH23

3YX s
b2 3

T3t +675 = »

7 3 |

6 71 2
CHOCENN
I 6 » 3

N the giuen q/uesﬁon

I to 7. sSo e are

Lls?nca Oct language  code.

7~

R«

tie

COVER = 63

(3+1s+ 2245 +1g)

R+E1+19+9 + 19 = 5q

(?n‘ucn D= B,
BASIS =
a'a_ SG
&
REASON = &

8
BELIEYUED .= 7

0 —
"ROVERNMENT =

= 10 —~9
G0 = 22 (Take revese G =ao, 0=12)
SHE = K9
R+
SoOME = ? Cr2t+iq+22)

:56e

cha!anguos‘]e?

O -0 o

] PN |

R - 2
N

3 -3
T

S - 5 -

& — ¢

7 - 7

@] _

& - O

9 - &
/e - o

ttf — 3

19, — y

13 — s

3\1_6

ts — 7
\__

&

6 - o
/0T~y
_..__)/2:;) y=2, X =3

like. +the



Iy

17

1q.

aa.

Bl

LUNQH

DI NNER = g (14 2% it —+2+10) [AN consonants
SUPPER = & (1 2+ 1+ 1+ 2+1)

BREAKEAST = ? (;+r+z+'2+(-+e+:>_+£+l)

= {12
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ANALY TICAL REASONING / PuZZLE

NWW

i AT Is sSecond to the left of 8 A Is sitﬁna +wo places

. ettt of 8 &
A — B ' A - - B - 8
e places
a: 5§ * <
A i +taller thon B Who s shorter [ A g talier than 8, Who S
4 : - T
than < 8 Shovter -than ¢ . ﬁ -
c
—g—-c , A v
/ : 8 'S
. . . . \ - ] \ R
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(8) &> (2 Lowyer O
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F o= = (Eng?l‘tee‘f)
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~ N
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g2 ALPHABETICAL TEST .

etters  aye there in the weord <

gx:~ How smony pairs  of |
tetters  Bw Hem i he

CREATIVE . Which have has Mady..
wod as. n the english dlpho.bei: Cc]

o) 2 b) | c) 3 o) NoNne -
£ one Al ' in bfw one®
A ] c E F H T T K -
CEREATIVE {-\ 8 ) A G =
L4 in Blw 3 % ; .
one % L M NO p & R S T OV
ce e
AE W X Y4 =z an bfw ONe
%
TV
Note L -

Like in  abouve ‘tt\.“‘)& ot PV‘Obl&ms -  Ssame order 1S ’
Qqluen -then count alphobet 0 —forward divecton only: (=)
=/ Ovder was  not mentioned  then count ~forwad and

backward divectiens both: (&)

Exi- How mMany Pcﬂrs ot  letevs are ther the werd

n " . . . s ) N ., .
"necessary W khich have has Mony cters betwceen theM
in the woard os e o blw them in the o.iPhC\loe"f‘ as

in  the Same ordev: (o]

A b) 2 a3 d) None -

Ofly one Jgfa‘ft‘:v




Ex:~ How many P-OL'er of leHers are “there in
“hor‘ncain " Which have has Mmany  leters  between them in

the word os in Jhe alphabet: /

A HORIzZoN

—
S Four Pa%rs

Exi~ How many pairs of lettkers are theres in the word
BUckET which have has many letters as in the engls
alphabet  in the <sames order. ~

or {’-\—]
A- R UCKET

S One Pcﬂr
EXi— How many palys  of |eters  are here in the worc

DONATE which have has fnqnv letters  loctween -thé
in the word As +there are in the english Ofpmbe"_'

A- o
’ DONATE
L
Sa o pairs /
ex:-) ' The eters in ~the wond (\Pvesence" have has NN

letterys betveen  them i the word as In ~he alphahb<
as in the some order. Wh'ch one of the letfers CoME:
corlier In  —4he alphabet-- (a]

&) ¢ b € c) R Q) P <) None -

/

A- )
PRESENCE

Ps — P comes Hfrgt

(f

X\~ The (eHers N +he word  LEMON  have has manj
letters behoeen +hem 0 the word os A Ahe Sp habets

which one of +Hhe (ettex cones eayliey VW Hhe ad Phqbet\-

= )
A- LtMEﬁ; Lo = LoN D iL_ omes  @tlier,




How m.dfstj 0 dgpen dent- words  STAINLESS
/ - .
imo  wrthout changihg. the order of the leters and
usinca cach tetter only once - ,
A STAINLESS

STAIN ( LEss —> & independent- words -

EXt— How/ mMany |‘ndePc>.hden+ wovd HEARTLESS be divided inta,
without changing  the order  of the (etters and - using
(gaCh (letter inﬂ once - _

A HE[ART] LESS

e 3 fnd&Pendef‘ﬁ' wWOras . O
/ =
EXi—  FErom the word ASTOUNDER, how many v‘/\def;endev\f
wovrde conh  be moLde' Lo rthoudt 'c_hang‘mg +he ovder of

tHe lettevs  ond u’s’inca cach (eter only ONCE:
A- /-\SITO( UONDER

S 3
: 4 ' « . P -
¥ B FF the last four letters of the word “conaentredion” |

are ywntken in  veverse ovder “followed by pext tuso
N +he reverce ovder and  next cthree  In yevevee ordey
—fottowed b\d —fivst= four in the veverse order and
cour)hn% Lom the ends which letter would be &Mtom

‘he new oxvomagmém—. o]

Q) N p) T c) € D) R
A CONCENTRATION
g*h <

NOITA@TNECNDC
Ext- Fivet/ and theid  letters i the. word Nedessary WET

inrterchange, Qlso the —ourth and  sinth tetfters, seventh

and  Ninth  leftexs - which ot <the —following  woald  be =t

hrer - from  left efck
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NEceE s s A RY
¢ 2 3 4Yys5 g 1 &9 /
S T~ 7

Exi- B the posiions  of  the st and <ith Jetters in th -
word distribute’ are interchanqe,  Similarly  the positions of
the o™ and ™ Ietters,

He 29 and 8" (etHers and suw
Which Q'F— e —Follomcnﬁ \@Hers  sth *Frcm «f—he (eH~ aftey
zﬁterchomgma the pesitions -

DisTRi B8U0TE

22 4 5¥¢ 7T 8 a 6

Y b Mhicy

-

S E /

EXi— Tf Hhe Poth‘ons of the 3@

and 10 ietter of the
word

DOCUMENTATION are im—teycmmge and ke wise |
the. Posrhons of the b cmd 18" (oters, 2" ana g™ et

1S olss mfcefc:ho.mje, Which of the *(-‘otlowma wit be P
letter fom he vight- end .

«a 1

/
POCUOMENTATION
2 3%'5‘678011011'13_;3

2

T

EXI- Bf the 1St ana 22nd [ctters

were fﬂ’cevchom%e alse 2™ and  kr? let—ée/rs . shand &
letfers and  swan-

Which  ©f the *-Fo(louoma woutd be
70 letter fom  the ‘n‘ﬁht— CeT

a) R b) p

N the uvord DEPRESSOI

©) 8 4 T <) None .

DEPRESSION

- ‘71*‘ letter
EDROS E Ts No
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EXi-

Exi- A meaningfal  word

Exi- B we Mmoake o meqnén%»ﬁm

"ﬁVS‘t/ SeCQﬂd,
CONTRACT -
& thad— woora:

@c./ b) D

A mponal  wodd  starling  with A i made fom the -
WD ang st gth  letters of +the word
which of +he -fotlowing ls the middie keHer -

c) R )T ©) None -

(- | N e C T
) 3 7 8
N CcOTRA
A C@G R ('meom‘ngﬁm wovd )
/ ST |

with e s ot &M and 107

Ictters of the word ddfg—tﬁbur{-@”. Which of- the -Fouow\‘ng

Wil be 349 (eHter of- that werd- T po  such wond
Can 6@. Mmade. %Iu@ Q&‘x*asansmew More than sSdch word

gqive ‘™M os the answer.

DI [e\T & /U
1 2\ 3/ H e 1 \8/, 9

S R UE
/ s U R E
U s E R

. More <thon +wo words = M-
word  with the St g™,

gt th letters of the wova
of +he —,Conow}ma wil be the 3¢
freom -he Yight end, H- No Such word cn we mak.e
W' s dhe onswer  ond ¥ more tHhan one such uond

an we make glue Woas anhswer: a7

ADM!N'STR&T[’ON, which -
letter of that word



R@_T N ,
I R A N
N A I R L Nous are not meaninghul words
R A N T
S A y
N ~

Ext- B it is possibe +o make a meanngful  word  with
the M 8™ P and o eters of the word
- COUNTERACT - which of the —Fo(tomt‘nca Wit be (tast
tetter of +he. word:. T ne such wod can we make
quve  'x' as the answer. oof more than one <such word

AN WEe Mode cafu@_ ™M as the answey.

/
DA BN 9T DX @ M.
C 0o T E R /A C/T
oy S e 7 18] alwn
| /
| NOAT -
AN T
™A N

)

S Two meanipgful  wovds =) "M
Rule veduchon formadion: ~
Exi— No: of Icttevs Skt‘PPed N betweenH adiaant letters N
—the aerles 1S +wo-. Which of the g»—?ouoméng seEries absserb
7 .
this rdle. (d]

a) sV YzcE b) SVZ.CGTN ¢ 2ZCGKMPR o) MPSVYBE

27 =1 =)
MPSUY BE
Y| y
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the seres 1S odd.  which of +he %t—rowtnﬁ SENES  Absorh 5,
thie valer (4]
) FTMRR b) EIMQV c) MPRUX . ) BDHLR
Gad

’f 3; 5‘17' ~ - "‘é,m.‘_\

o]
E- M ORX X

EY 21 : B
ET M&V X 7
B ESRNEY .
_ ] 3]
d) B D H L R
L2l L3) N |
_ N
_ / ' : ' . v
Exi— NO: of  lcttere  skipped In botween  adiacent tetters W,
4he eevies (ncreases by One: wWhich of the —F‘Dliomi‘ng Seriey -

absorb this yule: (d ]

Ncprov B HCF K P ) HTH AU d) TKNRW
1 3l

d T k N R W
2 B R

between odiacent  (@HRS i

Exi- No: OF lotters  skipped D
ch &t %Q.*@D_l{cw}ﬁﬂ

4he seres ar muH{Ple o thwee. Whi
Senes absorbs  this yal@ . [aj

o) AEL P2 p) GkOTZ &) LORUX d) DHLPU
/
=1 3] Mutiple of 3
A E L P C 2,6,9, 1% ~ ~
R | |

adiacent  letters

o A o5 35 whoh of

yale %iuef) above -

Exi~- No- oF tetters skipped in  between

in e Scnes IS N -the ovder
“he -—Fo(tOUJTDCj Senies absorb  this

o) EGLP d) RTWZ

/
Q) CETT B EQLD
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in the seres s i the order of

Q:‘S‘,‘ 7/’0‘

Exi- No- of letlers skipped ‘n  between adiacent (etters
which of th
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Q) ceaLT b FNKOT O QTz2HS
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e o2

o) sSYBES
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204+ ICY = 230 — &3

o H/toy = 1Yo

/
foXx. = A0 -

= 9

9G+Y = Iy

=]

. . \ . A i i = 3 ‘
€ Given 100 “wines, Succesfutly delievered +f3r @ach glass =3p<

/ 106 X 3 = 300 Pafse = 3 Rs-
R:s 2 Rs- &' 4o
7
&_____.,//
GC:FO&QQ_
4+ B = (06— BX3
/ QG+ 38 = 300
G - A8 = 2Yo -—7@—)
o 4 - “
I2R = 606
e S5

<. BYOken glasses = 5
5XQqpase = ys paise  but thewe or 6o paise
. Ny 4 i;fs gtcvsses - .
> The \(emqmmS IS~ palse (3%x5) ow not gruen
becanse I he sucesfully delieved the glass that amourd™
Wil be courvted- He s bvoked So we veduced 1S pAse:

. i 1 .
3. 5 — a b3 a s
Ava« helgh-l: = T4 T
+2.

/ o K A2 EA O 2 ) (@)
K

4 = pa WY Xt 1o

H

A =70
=h U‘Psidg down = Mirvvor Imoge + wierter _‘_qu%é.
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(b) 161 ~—35 ¥ _
(o) 18— (:3)9‘ = &9) = (%) not Pevrf‘cd— gol_,uour.e
(d) 196 — ('LUL
P Tt IS A perfect Sqpave
2.
el = (31)
L Noe e 196 .
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(89 ¢ o 1) — quc\de down l‘ma%
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A J : :

A+ 2 + DOy
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\ S (G)FH\OA \
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N
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S 4
N 2
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Twice
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& At present L oy

After T yeawrs o ¢ b
/

'SLxT (a-b)
® At present age of A —_—

]

Xb ‘SQ

® At P@S@J’Tﬁ' age of B = YAT (CL—b)
b ~you

@ After T years aged A = aXxT(x-Y)

b -ya
@ After T years aged 8 = bt (x-y)
/ Lb -ya
~ = S h
At present s
After 36 years 2 k!
F = 4X30x-0 £V 2> :xso@z-l).
/ 2 -2
F = &0 years — S years
e yey =3
?L"—-\J‘L:_S‘r
CA+Y) (x—y) = S
1+y =%‘. = 19
X+]/:;7
X =Y =3
RA = 20
= 10
4 =7
I« condiborf — (. R‘e'ue-rg?na woman ond husbands age
condiion — & Drfference  of thelr age = 7‘_ of theiv
S 3 s <@k s
q = (34+43) q = aa
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13100 Kg — a0 people /

otd young  child

3k<\:] 2 kg E‘Tkﬁ
S, B8, 50 = 100 — ® s5+iSs+75 = a5 % )
D s+2as+70 = oo @ S -+t70%+80 =I5 K

@ -~ SX3+ Usxa +SOROS = 130> 106

/
© — SX3 -+ as®2 +70%6S = jos = teq _

- h+c =Y . h+s = 60; cts=qp O

/

N One dmj *{he«d @f) cad-

ni

h+c = 1 _ heg= TRy S
‘4o R &0 <0 /

Al n one doy

htc+htstet+s = 0 0+ :
Yo &0 ‘90 : .

h+tc+s = 19

th onec. o
720 -
whole PAstwr  can eat all = 720 dmds
' 19y )
IS w,y X~Yg = 30 ’

ARY = |62

d = 162y
T e——

N
‘61\.,

, X = g

- 2 0
624 — x7 = 304 /

2.
L +30% —~ 1€ 2y =0

A =38

l&. . :
@ 5 and 6 = s-6"= U Not cube R

@ s and 10 = Sl—vcj‘ = 7S N6t cube R

B 6 and ¢ o 0 —6* = 84 = (y)3

L 1000 — 246
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MATHEMATICAL OPERATIONS

are v
+, =y X, + =& Mathermhcz:\i symbols:
>, <, = g are mathematbcal stxemens

te Tf 4+ Means = —- Means X, X Means =

which of -the '““{biiowa‘r\g

A v h = 6 +~ & ~h+2X Y = 1g+axy T2k
- = X ’
Then —foliow = :
BN R = RARracket
N O = “ef
X = -
D = prutgon
M = Mufﬁ‘Plg
A = Addtton
S = Subtrachan
, = |6 4+ &%XY = 2-Y

=16 +&Xa -4
~. % K
= 32—y

= 28

Qe T+ Hheans =5 - means x , = means + , A means ~— -

T™hen 3exla+hsg+a~3 =9
A 36xIa+n T 6+2-3 =) 36 —lat 4+ 6T aAN3
= 36 — 3+ 3X3

= 36 —3+9

= ys-3
/ =
3 » X=+, - means X, -+ meqns+,+macxf\s~~#’6”

(315 319)X 246 =
A (315 £19) W8+ D ERNER IR
=)  (u4S+ia) =23-6

/
=) &Yy =-g-46

) g - €

= MEAns -

witl be value of cxpression 16 =8

e




Gy

3 ke B = Meang < - Means =, X MEEAS ~ ; + FAISENS X -
Then  (36Xk) - axy
Y 8Xo+i€ =i ' . /

A (36xY) - gxy = (36 -%) =8 -y

Y+axa+ 16 = b%8 -2 164l
¢ :
D 3atg -y
oy . T —
£ 3R - 3241 /
W = -
{ 2 A4t - o - 4
4 1
N N
5.

T p Means =, Q& mMmeans X, R Means +, S Meons -
-. 12
Then laQRPhrssc

[l

/‘ A4
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